1 2 3 | 4 5 6 | 7 | 8

Start Electrocontrol stress|Flov Direction| Fork pressure [[Rev.No | Revision note | Date ]signature] checked
Ulre(:‘ftlon Clock- a X1 B to A MA
Rotation wise |p X2 AtoB MB
Electromsgnet b
162. 4 10.1
2 l
| o Lt
o 0!
Z © 7 >
N 5
S o
M ==
<= .
1 Z Involute spline
A ny £ ANST B92. 1b-1970
f 131-16/32 DP
/ I Flat root, side fit
o . tolerance clas: 7
4-M12x1. 75-6H
c ~M12x1. 75— o
J Thread depth 17.5
Electronagnet a Screw tightening 71.4
torque:87 Nm
PS. Ysr. G 198.5 Connection size
L 311 (Fa2, MH) 308
= 174.9 174.9
299 X 136.4(T1) 100(12) 297 (A, B)
. Maximum displacement Center adjustment screw .
231 (G, Ysr . PS) adjustment screw X1 R X2 20
Pressure shut-off valy —— = Maximum displacement _L.
0 f adjustment screw 15.9
High pressure relief valve(B) @ o Y * O
essure re’lel va_ve\b) B
. ~ ©
] ~ o ©
ralv - = 4 40; — _
| Shuttle valve E =z g g o ] 1 | o) o i
4\[ L - o © = Q| 4-B21 N o Y ol H D |
PS —\ z 8 through hole 2
=) H T1 ~— deep 20 g N \B >\ : -
— T ¢
: 1 Ysr T1 o I = = «© \ajq H 58
5 @ —— B ] 31 E I [ i ST il i e e ]/
~ H i N - L
Z il S \\ ] X =~ N 12 Sle=y\ S
© S 2 o i 1)
d © : = Y )
ES | | 2 S oo ollHO
= 1 12 = I 5 |11 D
e SAE J744 | | o Ol
Flange E4 -
‘ S 66.9 >
High pressure relief valve (A 140 (T1) 294.5 Involute spline 156. 1 A
- ANST B92. 1 - -
. . § 137-8/16DP
21 | 301 () Flat root side fit
tolerance class: a
372.1 Technical requirements
1. Installation precautions:
390. 1 (1) Before installation, the cleanliness level of the fuel tank
= and connecting pipes must meet 1504406 18/15.
— (2) Before installation, make sure that there are no burrs on
Main Parameters the joint surfaces and that the installation surface is Pump displacement
Direction of Rotation [ Right hand free of debris and dust. and control current
> - (3) During the installation proc a lifting device should
Punp Structure Swashplate varizble purp be uend.
Control Method: Electric proportional displacemnet control (4) When lifting, avoid damaging the oil port sealing surface.
N N (5) Be especially careful not to allow debris to enter the
Theoretical Displacement (cm®/rev) 175.4 oil port.
Tated 2650 (6) Do not danage the drive shaft. Please loosen the lifting
Ports Port Name Standard Specifications - device after tightening the mounting screws.
s Lt Standrd_| Specificy Soeed (o) [Noin 2500 (1) Mhen omected 1 tha Sain hgine She-porakial ity betwcen
AB orking ofl port oAk o /4in Wit 500 the main shaft and the engine main shaft (or coupling sleeve) Solenoid connector: Deutsch DT04-2P
Fastening thread DIN 13 M14x2 Cdepth 19) B T e o g shall not exceed 0. 05. vV DC
9 B - - = e y pressure related Lo charge pressure) | 49 2. Precautions for : 19 Q
_ 5” 0il suction port 15‘0 9974-1 | M48x2 (depth 24) ystem pressure 50 (1) Before operation, inject hydraulic oil into the pump body mum current: 700mA
Tl, T2 Drain port 1S0 9974-1 | M42x2 Cdepth 20) (MPa) L _from the housing oil drain ports Tl and T2. Current dither frequency: 120Hz
R Exhaust port S0 9974-1 M14x1.5 (depth 14. 1) F‘“»WW\\W 1 Ei; ;\%Emrf opemu]rm, wh; mlg C]n 1h9hm.\'|nglz‘mus!1h9 exhﬁuslvd. 100 Current dither amplitude: 200mA
- - ; 3) W se, t s aulic r ot e 4= 15 6 A,
XL X2 Control pressure port 10 9974-1 | M14x1.5 Cdepth 20) | Pressure cut-off valev setting (fpe) Corvesponding to charge pusp| 42 l1:31in13:iluclsieu:uo?uimeﬁ?fuiuidﬁf]thglpuu(;;. other Note: current a = 150mA, b=600mA V View
G Charge pressure port 1S0 9974-1 | M22x1.5 (depth 19) Charge pump displacement (cm®/rev) 39 (4) \d“wn ml: orting the pump, avoid collision with the
- 3 ive shaft.
Ps Pilot pressure Inlet 10 9974-1 [ MI8x1.5 Cdepth 17) |G . - rive sha
(harge pump pressur ) | Low pr e relief valve |, 'UNLESS OTHERWISE STATED ALL .
Vs Pilot pressure outlet 150 9974-1 | WidxL.5 Cdepth 17.5) | klative o c e | set pressure 33 =& L QMENSIONS K i @ THM DESCRIPTION:
MA, MB Measuring pressure port A,B | IS0 9974-1 | M14x1.5 (depth 15.5) | oIl pressure (1Pa) Continued 0.17 -ANGULAR: $0.1 HYDRAULICS FRONT PUMP
ohell pressure (M
MH Measuring high pressure port | 180 9974-1 | Ml4x1.5 (depth 15) Maxinun cold start 0.52 DESIGNED STANDARD THM HUADE HYDRAULICS PVT LTD
Fa Charge pressure port 1S0 9974-1 | M33x2 (depth 21) Suction pressure (ipa)| Rated 0.08 COLLATED APPROVED EVAL: saes@tmhuade com, salesho@tmhuade.com | pRODYCT UID: T014511983
Fal Charge pressure port 1S0 9974-1 | M33x2 (depth 15) (absolute pressure) [ yfayipum 0.6 A CHECKED MATERIALS HEAT . .
Fa2 Charge pressure port 150 9974-1 [ M22x1.5 (depth 18.5) |0ther REV ALTERATION DATE [Desionep| approveD [eick| TecHNics PASS MATERIAL: WEIGHT. SCALE: |DWG NO.: ||/NO.I




	Page 1

